Introduction and Conversion of Capacity

1. Complete the blanks convert into millilitres.

a. 51400 ml =5x 1000 + 400 =5000 + 400 = ml
b. 61985 ml =6x1000+___ =6000+ = ml
c. 21980 ml =2 x + = 2000 + = ml
d. 121125 ml =12 x 1000 +125  =12000 + 125 = mi

2. Compare the following using > or < or =.

)

a. 71105 ml 7105 ml
\———
)

b. 51505 ml 5505 ml
\———
)

c. 31300 ml 3000 ml
\——
)

d. 11105 ml 1501 ml
\———

3. Convert the following into millilitres.

a. 41404 ml

b. 71105 ml

c. 61645 ml

d. 8l =






